Choose your level!

Question:
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Answer:
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10,000s 1,000s 100s 10s 1s
i) OO0 00O O @] O
@] O O
+O0Q O o0 O @]e]
O O Q0

10,000s 1,000s 00s 10s 1s

1

O o 00
©) o
o

True or false?

6

WIiN W

] = | = -~ M

1
0
9
1
1

+
@O N O

1b. Jody and Lynefte are comparing their
income.
Earnings Bonus
Jody £164,381 £1,453
Lynette £15,392 £2,445

I= =l | only eamt £3 less pounds than you
- altogether.
Jody

You must have earnt more money
than me because your earnings oy
were almost£1,000 more. =

- - Lynette
Who is correct? Explain why.

2b. Add the missing place value counters
to make this addition correct.

10,000s 1,000s 100s 10s 1s




Choose your level!

Question:

Level 2

Answers:
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5b. Use the place value counters to add
the numbers below.
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124a. Solve the addition calculations
below.

i) 8,008 + 41,299 =

if) &6 9 0 8 4

4b. Susie and Emma are comparing their
income.
Earnings Bonus
Susie £32,056 £5,099
Emma £30,837 £10,845

[
You earnt less money altogether
'G’_@ than me because my eamings were

Susie higher.

| earnt more money because my o
=
bonus was more than double the ‘V

amount of yours.

Emma

Who is correct? Explain why.

Giselle completes this sum incorrectly.

20,383 +95,347=115,830

Explain Giselle’s mistake.




